SPRAYING DEVICES INC.

" PI29/401jj

SDI Sprayer, Model No.

VYM200 & VM240H-C

Spraying Devices, Inc., P. . Box 3107, Visalia, CA. 93278, (559) SDI-5555/Fax: (559) SDI-5591



| [ -
( j_‘ j D MANUFACTURER OF QUALITY POWER SPRAYERS

SPRAYING DEVICES INC.

Number Number Description : Qty
1 15-056 Vent Assembly 1
2 15-053 Lid Only, 16" Threaded 1
3 15-055 C-Gasket 1
4 15-054 Rim, 16" Threaded 1
5 16-203 Strainer Basket 1
6 52-276 Elbow 1", 45°, PVC 1
7 53-204 Nipple, 1" x 4" PVC (Cut in Half) 1
8 16-117 Fitting, 1", DT, Poly 1
9 53-886 Plug 1", Poly 1
10 53-826 Tee 1", Poly 1
11 52-120 Elbow Adapter 1" MPT x 1" HB 3
12 24-116 Hose Clamp #16 4
13 52-393 Hydraulic Body 1
14 50-029 Hydraulic Elbow 3/8" MPT x 1/2" MJIC 2
15 11-403 Oil Cooler Bracket 1
16 52-392 Hydraulic Nipple 1
17 e 66-109 Pulley 9 x 5/8" Bore 2

18 46-032 Key 2

19 | 16-141 .| Packing Nut 5/8", Nylon 2

20 67-1000 Belt 51100 1

21 15-119 Belt Guard 1

22 66-803 Idler Pulley 3" OD x 3/4" Wide 2

23 66-080 Splined Bushing H1-3/8" 6 Sp 1

24 66-103 Pulley 3.05 OD, BK30H 1

2 11-280 Idler Pulley Bracket 1

26 21-938 Hose 1" ID, Per Foot Specify
27 52-127 Elbow Adapter 1-1/4" MPT x 1-1/2" HB 1

28 11-038 Strainer Bracket 1

29 24-124 Hose Clamp #24 2

30 21-933 Suction Hose 1-1/2" ID, Per Foot Specify
31 60-205 Gate Valve 1-1/4" 1

32 ' 51-701SS Close Nipple 1-1/4",SS S
33 57-121 Body for Strainer 1

34 57-116 Gasket for Strainer 1

35 57-123 Strainer Screen, 20 Mesh 1

36 57-1178 Solid Bowl for Strainer 1

37 50-580SS Plug 3/4", SS 1

39 50-022 Check Valve 1/2" 1

40 : 51-601SS Close Nipple 1", SS . 1t

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 Telephone (559)SDI-5555 . Fax: (559)SDI-5591
' 4/11/01



| < I
:I | } I:| | MANUFACTURER OF QUALITY POWER SPRAYERS

SPRAYING DEVICES INC.

Item Part !

Number Number Description : Qty
41 21-032 Hose Assembly, 62" 1
42 21-036 Hose Assembly, 84" 1
43 21-049 Hose Assembly, 24" 1
44 50-620SS Tee 1", SS 1
45 50-030 Hydraulic Elbow 1/2" MPT x 1/2" MJIC 4
46 11-249 Pin Mount Spacer 2
47 22-000 0il Cooler 1
48 11-316 Bottom Support Belt Guard 1
49 11-661 Pump Mount 1
54 55-311 Hose Coupling, Female 3/4" HB 1
51 55-106 Adapter 3/4" MPT x 3/4" MGHT 1
52 50-511SS Elbow 3/4", SS 2
25 51-501SS Close Nipple 3/4", SS G
54 81-750 Hose 3/4" ID, 800 PSI, Per Foot Specify
55 24-204 Hose Clamp #JS204 2
56 78-0020AP | Diaphragm Pump, 20 GPM 1
57 78-360 Flange, Pump to Motor 1
58 20-050 Hydraulic Motor, 5 GPM 1
59 24-120 - | Hose Clamp #20 2
60 21-932 Suction Hose 1-1/4" ID, Per Foot Specify
61 52-126 Elbow 1-1/4" MPT x 1-1/4" HB 1
62 11-240 Right Pin Mount Bracket 1
63 11-241 Left Pin Mount Bracket 1
64 10-201 Frame, VM240H-C 1
65 10-202 Tank Strap 4
66 17-131 Suction Flange 1
68 11-058 Frame Hold Down 2
69 55-312 Hose Coupling, Male 3/4" HB 1
70 55-108 Adapter 3/4" MPT x 3/4" FGHT 1
71 27-300 Pressure Gauge 0-300 PSI 1
72 15-203RG | Tank 1
73 11-662 Mounting Angle, Rear 1
74 50-520SS Tee 3/4", SS 1
i 51-241B Close Nipple 1/4", Brass 1
76 50-211 Elbow 1/4", Brass Z 1
78 11-142 Relief Valve Mounting Bracket 1
79 78-800 Relief Valve, 300 PSI 1
80 11-321 Belt Guard Mount 1
81 16-950 Packing for Packing Gland, Per-Inch 24"

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 Telephone (559)SDI-5555 . Fax: (559)SDI-5591
- 4/11/01



S

SPRAYING DEVICES INC.

Item Part .

Number Number Description Qty
82 16-140 Packing Gland 5/8", Nylon 7
83 16-154 Agitator Shaft 5/8 x 54-1/2" 2
84 - 16-951 Left Agitator Paddle 6
85 16-952 Right Agitator Paddle 4
86 11-101 Vortex Baffle 1
87 16-281 Shaft Collar 5/8", SS 4
88 16-250 Bearing 5/8", Nylon 2
89 16-100 Hose Shank el
90 24-104 Hose Clamp #4 2
91 16-922 Tubing 3/8" ID, Per Inch Specify
92 55-050 Rubber Washer 3/4" 4
92 55-052 Nylon Washer 3/4" 2

The following items are not illustrated.:
70-106 SDI Logo Decal 7 x 13-1/2" 2
70-200 Sight Gauge Decal 1
70-103 SDI Logo Decal 3-3/4 x 7" i
70-301 Caution Decal 1
70-357 Serial Number Decal 1
70-371 0il Cooler Patent Pending Decal 1
70-370 Oil Cooler Serial Number Decal 1
70-090 Do Not Turn Valve Handle Decal 1

Spraying Devif:es, Inc., P. O. Box 3107, Visalia, CA. 93278 Telephone (559)SDI-5555 . Fax: (559)SDI-5591

4/11/01




